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6-12 Find parametric equations and symmetric equations for the
line.

7. The line through the points (1, 3, 2) and (-4, 3, 0)
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10. The line through (2, 1, 0) and perpendicular to both i +
and j + Kk TU=<2,1,0>
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I1. The line through (1, —1, 1) and parallel to the line oA
X= x+2=;y=z—3
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13.| Is the line through (—4, =6, 1) and (-2, 0, —3) parallel to the
line through (10, 18, 4) and (5, 3, 14)?
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14, Is the line through (4, 1, —1) and (2, 5, 3) perpendicular to the
line through (—3, 2, 0) and (5, 1, 4)?
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19. Ly x= =61, y=1+91, z=-3

Ly x=1+2s, y=4-135, z=3
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19-22 Determine whether the lines L, and L; are parallel,
intersecting. If they intersect, find the point of intersection.

skew, or

= Y= Vet =433 =

J————
No /‘u\‘l;&se C‘JTb—L_‘ l/ )

Jan 25-8:00 PM



12-5-notes.notebook January 28, 2019

63. Find parametric equations for the line through the point
(0, 1, 2) that is parallel to the plane x + y + z = 2 and
perpendicular tothe linex =1 + ¢,y =1 — 1,z =21 ., <A, 9,27 = {441, EF, 27
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62. (a) Find the point at which the given lines intersect: v o= O
ety - 3
r= (1,100 + (I%1,2)
1L = 2 -5
r=1(2,0,2) +s(-1,1,0)

(b) Find an equation GP the pTanc that Sontains these lines, I-t<-s
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6l. Find an equation of the plane with x-intercept a, y-intercept b, |
and z-intercept c.
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